cMEmmoaoyvzg Q Th

SYTFHYLRL <

| ##% LilLs5. (BI55)

® 8cm—5cm=
@ 2cmbé6émMm—3mm=

@ 5cm9Imm—6mm=

@ 3cmbé6émm—5mm=

< ThA

2 ;Jr*ﬁ”-’?r LEL L. (BIOR)

® 6cm+ 2cm=
@ 2cm4mm+ lcm3mm=

@ 3cmb5mm+2cm | mm=

@ 2cm5mm+2cm2mm=

® HEHL % @j @ @ [50%% @/rz@@



o = DOV WIK ¥ E80L!
/ g cmEtmm®AOVEH I 6 Th
W4 (KYFHY%RL)

23FA

| &% LFIlLs5. (BI54)

® 8cm—5cm= 3 cm
@ 2cmb6mm—3mm=2cm3mm

@ 5cmImm—6mm=5cm 3 mm

@ 3cmbébémm—5mm=3cm | mm

< ThA

2 HE%E LlLs5, (B105)

O 6cm+2cm= Ecm
@ 2cm4mm+ lcm3mm= 3cm 7 mm
@ 3cm5mm+2cmImm=5cm6 mm

@ 2cmS5mm+2cm2mm=4cm 7 mm

@® HNEHL EZ % g g ? gﬁgg @I@t



	スライド 31
	スライド 32

